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Note: This question paper contains two parts A and B'
part A is compulsory which .urii.r 25 marks. Answer all questions in Part A' Part B

consists of 5 Units. Answer any one full question from each rtnit. Each question carries

(25 Marks)
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What are the two factors referred to in Hertzberg theory?

What are the five levels of need hierarchy?
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$/-hat arg. the contlg! cha{s fol inspsgtion !y variableJ

What aretne elemer.it$ o{marketing tnif?, ; '1,' 
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p iff.i"titi ute b etw.eeh tian s fer and'sep arat io n'

orrtline and explain br,iefly F:i),ol's principle of organization.

Determine the EOQ aud nutllbet'olordc'rs to be placed in year fbran itern given the

lollorr ing:
Annual consutnption of the item : 14400 units

Inventory carrYing cost
D..;^- ^1] t|... iforrI I l!L Ur

percent ofthe average value ofinventory per ntonth'

Rs 64 per unit.

How do you calculate labor turnover?

What is float?
What are dummY activities?
How would you conduct internal bench marking?

How would you define mission?

!-..,,.J i

(50 Marks)

What is decentralization? What are its advantages?

What is matrix organization structure? Under what conditions do you need that type of

strLrctLrre'l \\''hlt arc it-s aclvantxges'7 [5'51
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Ordeting cost : Ils' 4900 per ordet"

gri,r.g or, the clifter:ences bets'een product lay out and process layoLt!' ' 15+51"- oR
List oLrt sorlc of ihe store clocLttrents arrd explain tIern brief il'.

\\1hat are the stages in purchasing activity in the case o1'orgarrizatiorral bLryers? [5+51
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What is promotion? What purpose does it serve to the organization?

What doyou understand by factor comparison method ofjob evalLlation?

OR
What:aiethevariouSfunctionsofwelfaiemanagelnent?'::...i i .t 1'l

Is performance managenient system same as performance evaluation systelh? Explain',. 
[5+51

[5+s]

ect network.The fo owins data tains to

activity Normal duration
in weeks

Normal cost in
Rs.

Crash duration
in weeks

Crash cost in Rs.

1-2 4 10,000
a
J 18,500

l-3,, ,' I 6000, ,,,
5 9,5,90

2-3....j ,.6 10,000.. I , ", 4', 14,.000

7-4 9 15,000 7 22,000

3-4 5 8000 J 15,000

0 per week. Determine the optimurn cost and the

optimum duration of tne project. Also draw the least cost network. [10]
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OR

ii,gram.for the activities given below and determin"it',e iiitical path. : 
,

_.."--...i'--',..
I !: 't

activity Deseription of the activitY Duration of the

activity in months

Imrnediate

predecessor activity

A Design plant 12

8 A

c Select vendor A'a A

D Select personnel 3 A

E Pl'epare site 12 B

F M anu factut'e generator
,l

18 C

U 5' C

H Install gencl'ilior 4 E,F

I Train operators 9 D,G

J 6 H,I

l0.a) What is the importance of enVirourrtental scantling in st|ategic plarlning]

b) Write a brielnote on Ilalanced Score Card'
OR
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Prepetre operations manual
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